WOODFORD COUNTY BOARD OF EDUCATION AGENDA ITEM

ITEM #: VII A DATE: June 6, 2023
TOPIC/TITLE: Donations/Various Monetary Donations, Donated Items, and Services
PRESENTER: Ryan Asher
ORIGIN:
 □ TOPIC PRESENTED FOR INFORMATION ONLY (No board action required.) □ ACTION REQUESTED AT THIS MEETING □ ITEM IS ON THE CONSENT AGENDA FOR APPROVAL □ ACTION REQUESTED AT FUTURE MEETING: (DATE) □ BOARD REVIEW REQUIRED BY □ STATE OR FEDERAL LAW OR REGULATION □ BOARD OF EDUCATION POLICY □ OTHER:
PREVIOUS REVIEW, DISCUSSION OR ACTION:
NO PREVIOUS BOARD REVIEW, DISCUSSION OR ACTIONPREVIOUS REVIEW OR ACTION
DATE: ACTION:
BACKGROUND INFORMATION:
Per Board policy - Donations must be pre-approved by the Board.
SUMMARY OF MAJOR ELEMENTS:
Request Board approval for the following schools/programs to accept donated items, monetary donations, or services from businesses/groups/organizations/individuals as listed below:
 Northside - \$360 US Games gift certificate from the American Heart Association WCHS - \$6000 from Jonathan Rabinowitz to sponsor Football Bowl Game WCHS - \$404.44 from the Woodford Community Foundation to pay off student fees WCHS - \$2877.64 from the Woodford County Booster Club for the cheer account WCHS - \$2992 from the Woodford County Booster Club for the Softball Team spring trip WCMS Band - \$350 Fred Harris; \$25 Donna Price; \$500 Karen Venis; \$100 E. Marie Probst; \$20 Rose Howell
IMPACT ON RESOURCES:
TIMETABLE FOR FURTHER REVIEW OR ACTION:
SUPERINTENDENT'S RECOMMENDATION: ☑ Recommended □ Not Recommended

SCHOOL ACTIVITY FUND DONATION ACCEPTANCE FORM

School: Northside			Fiscal Year E	nding: 202	3	
Date of Gift:	2,23					
Donor Name: American	Heurt Asso	cittio				
Donor Address: AMERICAN Heart	7272 C Street Address	reenvi	11e Ave			
Association	Street Address (Con	itinued)			_	
	Dallas City	T 🗸 State	Zip	23/ Code		
(Circle as appropriate) Type of Donation: Cash C Other gift description including p 360 in US Games in Kids Heart	CiP+ Certil Challenge	operty R ctions on don	for Par	Service Ticipati	Cunci	es iift izrd 1360
Was anything of value received in If yes, description and dollar value		on?	Yes	No 🗾		
is the Thank Y		for o	ur sc	nool fo	00	
Principal Principal	tting in	Kids	Heart	Challe	inge.	•
Date				RECEIVED		

MAY 17 2023
WOODFHAD COUNTY
BOARD OF EDUCATION

School: WCHS RECEIPT#	
School Address: 180 Frank Fort St	
Verscilles KY 40383 Fiscal Year Ending: 22-	93
School Federal ID #	
Date of gift: 5 23 23	
Donor Name: Joyathan Rabinowitz	
Donor Address: 240 Rose Hill Ave. street address	à
street address (continued)	8
Verschilles Ky 40383 zip code	
Donor Phone Number:	
Type of donation: (Circle one) Cash Check Amount: **COO** Other	
Type of donation: (Circle one) Cash Check Amount: Other	
Other gift description including purpose and restrictions on donation:	
Sponsor/Jootball Boul Game	
Was anything of value received in exchange for donation?	
If yes, description and dollar value:	1
Federal ID # (if applicable)	
Person accepting donation Principal	
5/23/23	RECEIVED
*Form shall be filled out for all donations valued at \$250 or more	MAY 3 0 2023

MAY 3 0 2023

School: WCHS RECEIPT#
School Address: 180 Frankfort St
Versailles K1 40383 Fiscal Year Ending: 22-23
School Federal ID #
Date of gift: 5 25 23
Donor Name WoodFord Community Foundation
Donor Address: 1965, main St. street address
street address (continued)
Versailles Ky 40383 city state zip code
Donor Phone Number:
Type of donation: (Circle one) Cash Check Amount: Other Ored Card
Other gift description including purpose and restrictions on donation: Paid off remaining student Fees # 404 44
Other gift description including purpose and restrictions on donation: Paid off remaining student Fees # 404 44
Other gift description including purpose and restrictions on donation:
Other gift description including purpose and restrictions on donation: Paid off remaining student Fees # 404 44
Other gift description including purpose and restrictions on donation: Paid off remaining student Fees # 404 44 Was anything of value received in exchange for donation? Ye
Other gift description including purpose and restrictions on donation: Paid off remaining student Fees # 404 44 Was anything of value received in exchange for donation? Ye
Other gift description including purpose and restrictions on donation: Paid off remaining student Fees. # 404.44 Was anything of value received in exchange for donation? Ye If yes, description and dollar value: Federal ID # (if applicable)
Other gift description including purpose and restrictions on donation: Paid off remaining student Fees # 404.44 Was anything of value received in exchange for donation? Ye If yes, description and dollar value:

WOODFORD COUNTY BOARD OF EDUCATION

^{*}Form shall be filled out for all donations valued at \$250 or more

School: WCHS RECEIPT#	
School Address: 180 Frankfort St.	⊋-23
School Federal ID# 5 8 23	
Date of gift: 5/8/23	
Donor Name: WC Booster Club	
Donor Address: PO Box 13 street address	
street address (continued) Versch les Ky 40383 cny state zip code	
Donor Phone Number:	
Type of donation: (Circle one) Cash Check Amount: 2877.64 Other	
Other gift description including purpose and restrictions on donation:	
Was anything of value received in exchange for donation? Ye	
If yes, description and dollar value:	
Federal ID # (if applicable) Sasha Ruhardson Person accepting donation Principal	
Form shall be filled out for all donations valued at \$250 or more	MAY 3 0 2023 WOODFORD COUNTY BOARD OF EDUCATIVE
	BOARD OF EDUCATION

WOODFORD COUNTY BOARD OF EDUCATION

School: WCHS RECEIPT#	
School Address: 180 Frank Fort St	23
School Federal ID #	
Date of gift: 5 5 23	
Donor Name: WC BOOSTON Club	
Donor Address: PO BOX 13 street address	¥
street address (continued)	X
Verschells KY 40383 chy state zip code	. 9
City State	Tile .
Donor Phone Number:	
·	
Type of donation: (Circle one) Cash (Check) Amount: 82992 Other	
A TITAL	
Other gift description including purpose and restrictions on donation:	
For Spring Break Trip (Softball)	
Was anything of value received in exchange for donation?	
	7
If yes, description and dollar value:	
Federal ID # (if applicable)	
Wash !! World	
Person accepting donation Principal	
$\frac{5 5 3}{\text{Date}}$	RECEIVED
*Form shall be filled out for all donations valued at \$250 or more	MAY 2 A soc

WOODFORD COUNTY BOARD OF EDUCATION AGENDA ITEM

ITEM #: 1XA DATE: June 2, 2023 TOPIC/TITLE: Donations/Permission to Accept Donations for 23-24 and Report of Various Monetary Donations, Donated Items, and Services Received During 22-23 PRESENTER: Ryan Asher **ORIGIN:** TOPIC PRESENTED FOR INFORMATION ONLY (No board action required.) ACTION REQUESTED AT THIS MEETING ITEM IS ON THE CONSENT AGENDA FOR APPROVAL ACTION REQUESTED AT FUTURE MEETING: (DATE) BOARD REVIEW REQUIRED BY STATE OR FEDERAL LAW OR REGULATION **BOARD OF EDUCATION POLICY** OTHER: PREVIOUS REVIEW, DISCUSSION OR ACTION: NO PREVIOUS BOARD REVIEW, DISCUSSION OR ACTION PREVIOUS REVIEW OR ACTION DATE: **ACTION: BACKGROUND INFORMATION:** Per Board policy - Donations must be pre-approved by the Board. **SUMMARY OF MAJOR ELEMENTS:** Request Board approval for the Woodford County Middle School and Safe Harbor Youth Service Centers to accept donated items, monetary donations, or services from businesses/groups/organizations/individuals during the 2023-2024 school year with all items received to be reported at the end of the school year. Items donated during the 2022-2023 school year are attached for the Board's information and approval. **IMPACT ON RESOURCES:** TIMETABLE FOR FURTHER REVIEW OR ACTION: SUPERINTENDENT'S RECOMMENDATION:

Recommended □ Not Recommended



WOODFORD COUNTY PUBLIC SCHOOLS

330 Pisgah Pike • Versailles, Kentucky 40383-9214 • (859) 879-4600

Danny Adkins, Superintendent

MEMO

TO: WOODFORD COUNTY BOARD OF EDUCATION

FROM: MALLORY WHITE, WOODFORD COUNTY MIDDLE SCHOOL/SAFE HARBOR ACADEMY YSC

DATE: MAY 31, 2023

RE: YSC DONATIONS

The Woodford County Middle School/Safe Harbor Academy YSC requests permission to accept donations beginning 07/01/23-06/30/24. This shall include; food, clothing, supplies, and/or monetary donations, which will fulfill the Family Resource Youth Service Centers'(FRYSC) program mission of enhancing students' abilities to succeed in school and remove non cognitive barriers to learning. Please see attached in-kind contributions received by the Center during the 2022-2023 school year.

BOARD MEMBERS

Angela McKale, Chair – Amanda Glass, Vice Chair Adam Brickler – Sarah McCoun – Sherri Springate

	WCMS/SHA YSC	In-kind 2022-2023	
Date	Name	Description	Total
	Woodford County Extension office	300 school supply bags 300 bags x \$10.00=\$3,000.00	\$3,000
	Extension Office/Homemakers	Time/Back to School Supply Drive 5 volunteers x \$26.85 per hr=\$134.25	\$134
7/21/2022	Anonymous	Donated clothing	\$500
	Truth and Consequences	Time/ 22 volunteers x 7hrs x\$26.85 per hr= \$4,134.9	\$4,13
	Advisory Council	Time/ 8 volunteers x 1hr=8 x \$26.85 per hr= \$214.80	\$215
	Advisory Council	Time/ 6 volunteers x 1=6 x \$26.85 per hr= \$161.10	\$16
	Woodford Co. Women's Club	Monetary Donation/Coats & Shoes \$12,000.00/4= \$3,000.00	\$3,000
	Woodford Co. Women's Club	Time/3 volunteers x 3 hrs= 9 x \$26.85 per hr= \$241.65	\$242
	Anonymous	Donated clothing	\$500
	Versailles Church of Christ	Thanksgiving Food Baskets 12 baskets x \$75 (value per basket)= \$900.00	\$900
	Versailles Church of Christ	Time/Thanksgiving Baskets 5 volunteers 3 hrs=15 x \$26.85 per hr= \$402.75	\$403
	Versailles Baptist Church	Thanksgiving Food Baskets 16 baskets x \$75 (value per basket)=\$1,200.00	\$1,200
	Versailles Baptist Church	Time/Assembly/Delivery Thanksgiving Food Baskets 4 x 2hrs=8x \$29.95 per hr= \$239.60	\$240
	Versailles Baptist Church	Thanksgiving Food Baskets Donation Check= \$250	\$250
	St. Andrew's Anglican Church	Thanksgiving Food Baskets Donation Kroger Card= \$100	\$100
	Anonymous	Donated clothing	\$100
	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) = \$300.00	\$300
	Versailles Baptist Church	Time/5 Volunteers for Build-A-Bed 5 volunteers x 4 hrs=20hrs x \$26.85= \$537	\$537
	Mason's Backpack Club Donation	Backpack Club Donation= \$15,000	\$15,000
	Versailles Church of Christ	SHA Christmas Party Supplies and Food= \$150	\$150
	Versailles Church of Christ	SHA Christmas Party Time 2x 2 hrs x \$26.86 per hr= \$107.40	\$107
	Tammy Hestand/Comm Christmas	Time/Community Christmas assistance 1x15hrs= 15x \$26.85= \$402.75	\$403
	Derek Sumeral/Community Christmas	Time/Community Christmas assistance 1x10ffs 10x \$26.85= \$268.50	\$269
	Max Basore/Community Christmas	Time/Community Christmas assistance 1 x 10-10x \$20.00-\$20.	\$134
	Community Christmas	114 (WCMS) students x \$100.00 (ave per gift)=\$11,400.00	\$11,400
	Journey Church	Backpack Buddies food bags 85 bags (MS) per wk x 20 week= 1,700 bags @ \$5.00 (per bag)	\$8,500
	Journey Church	Time/Backpack Buddies food bags (MS) 10 hrs wkly x \$26.85 per hr=\$268.50 x32 wks = \$8,592	\$8,592
		Time/Backpack Buddies food bags (MS) 10 hrs wkly x \$26.85 per hr=\$268.50 x3 wks = \$805.5	\$806
	Journey Church	Time for SHA Birthday Cakes x 12 hrs x\$26.85 per hr= \$322.20	\$322
	Versailles Church of Christ		
	Versailles Church of Christ	Supplies for SHA Birthday Cakes \$10 per cake x 12 students= \$120	\$120
	Advisory Council	Time/6 volunteers x \$26.85 per hr= \$161.10	\$16
	Anonymous	Donated clothing, shoes, and household items	\$500
	Anonymous	Donated cleats	\$300
	Anonymous	Donated clothing, school supplies, and books	\$200
	Anonymous	Donated clothing	\$250
	Versailles Baptist Church	Sheets, Bedspreads, and Pillows = \$150	\$150
	Versailles Baptist Church	Assistance with Malibu Jacks trip for 2 students (\$25 per student x 2 students= \$50)	\$50
	Advisory Council	Time/ 4 volunteers x \$26.85 per hr= \$107.40	\$10
	WCMS PTO	Assistance with Malibu Jacks trip for 4 students (\$25 per student x 4 students= \$100)	\$100
	Advisory Council	Time/ 6 volunteers x 1 hr = 6 x \$26.85 per hr =\$161.10	\$16
	Versailles Baptist Church	Full sized mattress, sheets, pillows, and bedspread	\$300
4/24/2023	Versailles Baptist Church	Time/2 Volunteers for Build-A-Bed x \$26.85/hr (1 hour)= 53.70	\$54
4/27/2023	FRYSC Summer Camp Fair	Time/14 Volunteers for FRYSC Summer Camp Fair x 2 hrs x \$26.85 per hr= \$751.80	\$75
5/19/2023	Anonymous	Donated shoes and clothing	\$35
5/31/2023	Anonymous	Donated hygiene products	\$10
			AL \$65,255

	WCHS YSC	In-Kind Donations 2022-2023	
Date	Name	Description	Total
	Woodford County Extension office	300 school supply bags 300 bags x \$10.00=\$3,000.00	\$3,000
7/1/2022	Extension Office/Homemakers	Time/Back to School Supply Drive 5 volunteers x \$26.85 per hr=\$134.25	\$134
8/12/2022	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) = \$300.00	\$300
8/12/2022	Versailles Baptist Church	Time/5 Volunteers for Build-A-Bed 4 volunteers x 4 hrs=20hrs x \$26.85= \$429.60	\$430
9/6/2022	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) = \$300.00	\$300
9/6/2022	Versailles Baptist Church	Time/5 Volunteers for Build-A-Bed 4 volunteers x 4 hrs=20hrs x \$26.85= \$430	\$430
9/6/2022	Versailles Baptist Church	Kitchen Table, Chairs, End tables for family	\$500
10/5/2023	Anonoymus	clothing/shoes	\$300
10/16/2023	Anonoymus	kitchenware	\$200
11/1/2022	Woodford Co. Women's Club	Monetary Donation/Coats & Shoes \$12,000.00/4= \$3,000.00	\$3,000
11/1/2022	Woodford Co. Women's Club	Time/3 volunteers x 3 hrs= 9 x \$26.85 per hr= \$241.65	\$242
11/6/2023	Jeremy Larsen	Senior pictures, 5 students x \$300/package= 1500	\$1,500
11/24/2022	Woodford County HS Food Drive	Thanksgiving Food Baskets 45 baskets x \$75 (value per basket)= \$3,375	\$3,375
11/24/2022	Woodford County HS Food Drive	Time/ Assembly Thanksgiving Baskets 20 volunteers 20 hrs=20 x \$26.85 per hr= \$10, 740	\$10,740
12/5/2022	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) = \$300.00	\$300
12/5/2022	Versailles Baptist Church	Time/5 Volunteers for Build-A-Bed 5 volunteers x 4 hrs=20hrs x \$26.85= \$537	\$537
12/9/22	Mason's Backpack Club Donation	Backpack Club Donation= \$15,000	\$15,000
12/15/22	Advisory Council	Time/ 8 volunteers x 1hr=8 x \$26.85 per hr= \$214.80	\$215
12/20/2023	Stephanie Tucker	clothing/shoes	\$500
	Tammy Hestand/Comm Christmas	Time/Community Christmas assistance 1x15hrs= 15x \$26.85= \$402.75	\$403
	Derek Sumeral/Community Christmas	Time/Community Christmas assistance 1 x 10=10x \$26.85= \$268.50	\$269
12/25/2022	Max Basore/Community Christmas	Time/Community Christmas assistance 1x 5 hrs=5 x \$26.85 per hr= \$134.25	\$134
12/25/22	Community Christmas	119 (WCHS) students x \$100.00 (ave per gift)=\$11,900.00	\$11,900
6 months	Journey Church	Backpack Buddies food bags 35 bags (HS) per wk x 20 week= 700 bags @ \$5.00 (per bag)	\$3,500
1/30/2023	Advisory Council	Time/6 volunteers x \$26.85 per hr= \$161.10	\$16
	Advisory Council	Time/ 6 volunteers x \$26.85 per hr= \$161.10	\$16
3/30/2023	Harmony Missionary Church	Backpack Buddies Donation	\$750
	Advisory Council	Time/ 6 volunteers x 1 hr = 6 x \$26.85 per hr =\$161.10	\$16
4/15/2023	Carli Hopper	Prom Hair/ 6 students x \$75 a head=	\$450
4/24/2023	Versailles Baptist Church	Time/2 Volunteers for Build-A-Bed x \$26.85/hr (1 hour)= 53.70	\$54
4/27/2023	FRYSC Summer Camp Fair	Time/14 Volunteers for FRYSC Summer Camp Fair x 2 hrs x \$26.85 per hr= \$751.80	\$752
5/15/2023	Twin Spires House Farm	Backpack Buddies Donation	\$500
5/18/2023	Advisory Council	Time/ 8 volunteers x 1hr=8 x \$26.85 per hr= \$214.80	\$21
5/30/2023	Versailles Baptist Church	Build-A-Bed Supplies (lumber, bedding) = \$300.00 x 4 beds =1200	\$1,20
5/30/2023	Versailles Baptist Church	Time/5 Volunteers for Build-A-Bed 5 volunteers x 4 hrs=20hrs x \$26.85= \$537	\$53
Year long	Brittany Campbell- Strengthning	Nia Volunteer- 10 hours x 26.85=268.50	\$26
2.200		TOTAL	\$62,417

#NAME?



WOODFORD COUNTY MIDDLE SCHOOL

100 School House Road • Versailles, Kentucky 40383-9214 PHONE (859) 879-4650 • FAX (859) 873-4436

> Clay Mattingly, Principal Ryan Wilkins, Assistant Principal / A.D. Katherine Waford, Interim Assistant Principal Dr. John Travis, Interim Dean of Students

June 6, 2023

Mr. Danny Adkins, Superintendent Woodford County Schools 330 Pisgah Pike Versailles, KY 40383

Mr. Adkins,

Please accept the following donation received by Woodford County Middle School. Generous donations are extremely important to us and help with the expenses of our school.

Rose Howell

Band Activity Account

E. Marie Probst

Band Activity Account

Karen Venis

Band Activity Account

Donna Price

Band Activity Account

Fred Harris

Band Activity Account

Thank you for your consideration of this request.

Clay Mattingly

Clay Mattingly Principal

						MANAGE-ACCIVITIES
School:	WOODFORD COUNTY MID	DDLE SCHOOL	RECEI	PT 29494	1	
School Address:	100 SCHOOLHOUSE RD					
	VERSAILLES, KY 40383		Fiscal V	ear Ending:	2023	
L	VERSITIEES, RT 40003		T Iscar I	cui Enuing.	2020	
School Federal	ID# 61-6001372					
Date of gift:	5/10/2023					
Donor Name:	FRED HARRIS					
Donor Address:	250 DOYLE LANE street address					
	street address (continue	d)				
	FLATWOODS	KY	4113			
	city	state	zip code	e		
Type of donatio	n: (Circle one) Cash	Check	Amount: \$350	Other		
	iption including purpose ACTIVITY ACCOUNT	and restrictions	s on donation:			J
Was anything o	f value received in exchan	nge for donation	n? Yes	No	У	
If yes, description	on and dollar value:				1	
Federal ID # (if	applicable)					
Person accepting	lation		Princip	1 My	-	
5-10-2,				-18-23	_	

^{*}Form shall be filled out for all donations valued at \$250 or more

School:	WOODFORD COUNTY MID	DLE SCHOOL	RECE	IPT 29208	3
School Address:	100 SCHOOLHOUSE RD		, ,		
	WEDGAILLEG IVV 40202		Figaal	Year Ending:	2023
	VERSAILLES, KY 40383		Fiscal	rear Ending:	2023
School Federal I	D# 61-6001372				
Date of gift:	4/28/2023]			
Donor Name:	DONNA PRICE				
Donor Address:	1100 ORCHARD DR	NAMES OF THE PARTY			
	street address				
	street address (continued	i)			
	NICHOLASVILLE	KY	403	56	
	city	state	zip coo		
Donor Phone N	umber:				
Type of donatio	n: (Circle one) Cash	Check	Amount: \$25	Other	
	iption including purpose a ACTIVITY ACCOUNT	and restrictions	s on donation:		
Was anything o	f value received in exchan	ge for donation	1? Yes [No	У
If yes, description	on and dollar value:				
Federal ID # (if	applicable)				
The same of the sa	Nartin		(1 Mills	/
Person acceptin			Princi	pal	
5.2.23			_5-	-3-23	_
Date			Date		

^{*}Form shall be filled out for all donations valued at \$250 or more

School:	WOODFORD COUNTY MII	DDLE SCHOOL	REC	EIPT 2	29529		
School Address:	100 SCHOOLHOUSE RD						
	VERSAILLES, KY 40383		Fisca	l Year Endin	ıg:	2023	
School Federal I	D# 61-6001372						
Date of gift:	5/12/2023						
Donor Name:	KAREN VENIS						
Donor Address:	741 SETH DRIVE street address						
	street address (continue VERSAILLES	d) KY state	40 zip ce	383 ode			
Donor Phone Nu	5	Check	Amount: \$500	Other		Northwest on Marcal Association (Const.	
Type of donatio	ii. (Circle one) Casii	CHECK	Amount. \$500	Other			
	iption including purpose ACTIVITY ACCOUNT	and restrictions	s on donation:				
Was anything o	f value received in exchar	nge for donation	? Yes		No	Х	
If yes, description	on and dollar value:						
Federal ID # (if	applicable)						
Sara Y Person acceptin	Martin		Princ	CS M	15		
5.18.23)			5-18-23			

^{*}Form shall be filled out for all donations valued at \$250 or more

School:	WOODFORD COUNTY MID	DLE SCHOOL	RECEI	PT 29208		
School Address:	100 SCHOOLHOUSE RD					
	VERSAILLES, KY 40383		Fiscal Y	Year Ending:	2023	
School Federal I	D# 61-6001372					
Date of gift:	4/28/2023					
Donor Name:	E. Marie Probst					
Donor Address:	284 Gunnell Rd street address					
	street address (continued Georgetown city	KY state	4032 zip coo			
Donor Phone No		Check	Amount: \$100	Other		
Other gift descr	ription including purpose a	and restrictions	s on donation:			
Was anything o	f value received in exchan	ge for donation	1? Yes	No	У	
If yes, description	on and dollar value:					
Federal ID # (if	applicable)					
Saral 7 Person accepting	Narta ng donation		Princi	s With	l	
5.2.23			5-	3-23	_	

^{*}Form shall be filled out for all donations valued at \$250 or more

School:	WOODFORD COUNTY MIDD	LE SCHOOL	RECE	IPT	29509		
School Address:	100 SCHOOLHOUSE RD						
1	VERSAILLES, KY 40383		Fiscal	Year En	ding:	2023	

School Federal I	D# 61-6001372						
Date of gift:	5/11/2023						
Donor Name:	ROSE HOWELL						
Donor Address:	5701 COACH GATE WY street address	NDE APT #5	9				
	street address						
	street address (continued)						
	PROSPECT	KY	402	07			
	city	state	zip coe				
Donor Phone Nu	ımber:						
Type of donation	n: (Circle one) Cash	Check	Amount: \$20	Other	•		
	iption including purpose an	d restrictions	on donation:				
WCMS BAND	ACTIVITY ACCOUNT						
	×						
Was anything o	f value received in exchang	e for donation	r? Yes		No		
was anything o	r value received in exchange	e for donation	1. 103		110	X	
If yes, description	on and dollar value:		THE RESERVE OF THE PROPERTY OF				
Federal ID # (if	applicable)						
San a	Monta			111	#		
Person acceptin	g donation		Prine	ipal	2	***************************************	
5.18.2				5-18-	2 ,		
2.10.6	9		Date	-18-	6.5		

^{*}Form shall be filled out for all donations valued at \$250 or more